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SUB: I.P
1. What is an object?

2. What is a class?
3. What is an attribute?
4. What is Java compiler?

5. What is public and private?

6. What is a keyword?

7. What are Java Object references?

8.  What are wrapper classes?
9. What is the difference between static and non – static variables?

10. What are floating point constants?

11. What is the name of ‘++’ and ‘--’ operator?

12.  What is relational operator?

13.  What will be the output of the following program segments?

        (a) 
int x;

 
x = 5;

 system.out.print (x++);

 system.out.print (x);

 system.out.print (++x);  

        (b) 
 int r, x = 50, y = 10;

 r = (x > 45) ? x: y 

 system.out.print (r); 

        (c) 
 int a;



 a = 25 + 4 – 4; 

 system.out.print (a); 

        (d) 
 int a, b = 30;

 a = 30/2 * b; 

 system.out.print (“a = “+a);

        (e) 
 int z, x = 5, y = -10, a = 4, b = 2;

 Z = x++ - --y * b/a; 

 What number will z in the sample code above contain?

i. 5

ii. 6

iii. 10

iv. 11

v. 12  

14. Classify the following into valid and invalid identifiers.

a. Mybook

b. _DK


c. Break

d. My.book

15. What is JButton control? Name few examples of container.

16. Explain the following:

public void actionPerformed (ActionEvent e) 
17. If you have a JButton click event procedure line called;

Jbutton1 ActionPerformed

      Explain above click event procedure parts.   

18.  What is the difference between the prefix and postfix forms of the ++ operator?

19. What is the difference between:

a. num = 10

b. num = = 10

20. What is the key to reusability in OOP?

21. Describe the principles of OOPs?

22. What is the main difference between Java platform and other platforms?     
ASSIGNMENT – 1

CLASS XII




CHAPTER – 14



SUB: I.P
1. What is DBMS?

2. What is the difference between logical and physical data independence?

3. What is candidate key and foreign key?

4. What is referential integrity?
5. Write the advantages of Database management system?
6. Write the SQL commands for (a) to (d) on the basis of table HOSPITAL.

	No
	Name
	Age
	Department
	Dateofadm
	Charges
	Sex

	1
	Arpit
	62
	Surgery
	1998-01-21
	300
	M

	2
	Zarina
	22
	ENT
	1997-12-12
	250
	F

	3
	Kareem
	32
	Orthopedic 
	1998-02-19
	200
	M

	4
	Arun
	12
	Surgery
	1998-0-11
	300
	M

	5
	Zubin
	30
	ENT
	1998-01-12
	250
	M

	6
	Ketaki
	16
	ENT
	1998-02-24
	250
	F

	7
	Ankita
	29
	Cardiology
	1998-02-20
	800
	F 

	8
	Zareen
	45
	Gynecology
	1998-02-22
	300
	F

	9
	Kush
	19
	Cardiology
	1998-01-13
	800
	M

	10
	Shilpa 
	23
	Medicine
	1998-02-21
	400
	F


a) To display the name of the patients in upper case.

b) To display square root of the field charges.

c) To return the 2 to the 4th character of the field department.

d) To find the day name of the dataofadm.  
7. Write the resulting output of the following:

a) SELECT ROUND (1023.432, 1);

b) SELECT UPPER (‘master’);

c) SELECT POWER (5, 5,);
d) SELECT SQRT (144);

e) SELECT MOD (36, 3);

f) SELECT ROUND (3244.1962, 1);

g) SELECT LENGTH (‘ABS Public School’);

h) SELECT LOWER (‘ABS Public School’);

i) SELECT TRIM (‘     ABS Public School          ’);

j) SELECT SUBSTR (‘ABS Public School’, 1, 3);

8. Given the following EMPLOYEE relation. Write the SQL command for question (a) to (d) and the output for (e).

	EMPNO
	ENAME
	JOB
	MGR
	HIREDATE
	SAL
	COMM
	DEPT

	7369
	Sunita
	CLERK
	7902
	1980-12-17
	2800
	
	20

	7499
	Ashok
	SALESMAN
	7698
	1981-02-20
	3600
	300
	30

	7521
	Rohit
	SALESMAN
	7698
	1981-02-22
	5250
	500
	30

	7566
	Jyoti
	MANAGER 
	7839
	1981-04-02
	4975
	1400
	20

	7654
	Martin
	SALESMAN
	7698
	1981-09-28
	6250
	
	30

	7698
	Binod 
	MANAGER 
	7839
	1981-05-01
	5850
	
	10


a) To convert the designation into lower case.

b) To list the name and employee number by converting the name into uppercase.
c) To list the position of character ‘a’ in the name of the empoloyee.
d) Display first three characters of the field JOB.

e) What will be the output of the following:

a. SELECT Ename, INSTR (Ename, ‘a’, 1, 2) from EMPLOYEE;
b. SELECT SUBSTR (Ename, 1, 5) from EMPLOYEE;

c. SELECT CONCAT (Ename, Job) from EMPLOYEE;

9. Name the keyword used to:
a. To physically delete a table.

b. To make a new table.

10. Create a table called STUDENT having following fields:
	NAME
	VARCHAR(25)

	ROLL
	INT

	AGE
	INT

	MARKS
	DOUBLE


11. Write the SQL commands for delete (a) to (f) and write the output for (g) on the basis of table STUDENT.
	No
	Name
	Age
	Department
	Dateofadm
	Fees
	Sex

	1
	Pankaj 
	24
	Computer 
	1997-01-10
	120
	M

	2
	Shalini
	21
	History 
	1998-03-24
	200
	F

	3
	Sanjay 
	22
	Hindi 
	1996-12-12
	300
	M

	4
	Sudha 
	25
	History 
	1999-07-01
	400
	F

	5
	Rakesh 
	22
	Hindi 
	1997-09-05
	250
	M

	6
	Shakeel 
	30
	History 
	1998-06-27
	300
	M

	7
	Surya 
	24
	Computer 
	1997-02-25
	210
	M

	8
	Shikha 
	23
	Hindi 
	1997-07-31
	200
	F 


a) To show all information about the students of History department.

b) To list the names of female students who are in Hindi department.

c) To display student’s name, fees, age of male students only.
d) To list names of all students with their date of admission in ascending order.
e) To count the number of students with age > 23.
f) To insert a new row in the STUDENT table with the following data:

9, ‘Zaheer’, 36, ‘Computer’, 1997-03-12, 230, ‘M’

g) Give the output of the following SQL statements (also include the last inserted values in (f) part)

a. SELECT COUNT (DISTINCT department) FROM STUDENT;

b. SELECT MAX (Age) FROM STUDENT where Sex = ‘F’;

c. SELECT AVG (Fees) FROM STUDENT where sex = ‘M’;

d. SELECT SUM (Fees) FROM STUDENT where dateofadm < ‘1998-01-01’;
12. What is NULL value? What is the result of an arithmetic operation containing Null value?

13. Answer the questions based on the table Employee given below:

	Cloumn_name
	Data Type
	Size 
	Constraint 
	Description 

	Emp_ID
	INT
	8
	Primary key
	Employee’s identification number

	First_name
	VARCHAR
	25
	NOT NULL
	First name of employee 

	Last_name
	VARCHAR
	25
	
	Last name of employee 

	Date_join 
	DATE
	
	
	Date of joining 

	Basic_sal
	DOUBLE
	8, 2
	
	Basic salary

	Dept_ID 
	INT
	3
	
	Department number


a) Write the SQL command to create the table Employee including its constraints.

b) Write the SQL command to display first name, date of joining and department id of employee.
c) Write the SQL command to display employee number and employee name from Employee tabl.
d) Write the SQL command that determines the highest paid employee from Employee table.
e) Delete the record of all the employees who worked in department number 20.
ANSWERS TO CH: 3 ASSIGNMENT
1. Object is an identifiable entity with some characteristics and behavior.

2. A class is a specification of the data and the function to be encapsulated with the data.
3. The variables which are declared in a class is called attribute.
4. A java compiler is a program which converts Java source code into Java byte code. A basic java compiler is included as part of JDK (java development kit). This java compiler is called “javac”.
5. A java keyword used in a method or variable declaration. It signifies that the method or variable can only be accessed by other elements of its class.
A java keyword used in a method or variable declaration. It signifies that the method or variable can only be accessed by other elements residing in its class, sub classes or classes in the same package.
6. Java sets aside words as key words – these words are reserved by the language itself and therefore are not available as names for variables or methods.
7. Java object references are variables which hold reference to objects. Unlike java primitive data types which store actual data, object reference store only a reference to the actual data object.
8. Wrapper classes are the classes that allow primitive data types to be accessed types to be accessed as object.
9. A static variable is associated with the class as a variable rather than with specific instances of classes. Non – static variables take unique values with each object instance.
10. These are real numbers having fractional part. These may be written in one of the two forms called fractional form or exponent form.
11. Here ++ is increment operator and – is decrement operator.
12. Operators use to do comparison are called relational operators. Ex: = = , >, <, >= != etc.
13. a) 5  6  7  

b) 50

c) 25

d) a = 450

e) 10
14. Valid identifiers are:  a, b, c

Invalid identifiers are:  d 
15. Jbutton is an area that triggers an event when clicked. When the user press Jbutton, normally the program responds by performing a task called action Perfromed. The action Perfromed is a method.
16. The task of method action Performed is to process a user interaction with a GUI component that generates an action event. This method is called automatically in response to the user interaction. The event handler is the action Performed method, which is called automatically response to the event. This style of programming is known as event driven programming.
17. Here, jbutton1 is the control name and Action performed is the event handler.
18. The prefix form performs the increment and returns value of the increment operation.The postfix returns the current value all of the expression and then performs the increment operation on that value.
19. (a) This is an assignment expression and it is assigning a value 10 to the variable name num.
(b) This is relational expression that tests the equality i.e. if num is exactly equal to 10.
20. When we write a program in OOP environments we donot start from scratch but look for a class that can be reused in out program. If such a class is available, we simply use it or inherit it. Thus inheritance allows code reusability.
21. There are 3 main principals of OOPs which are called Polymorphism, inheritance and encapsulation.
22. The java platform differs from most other platforms in way that it’s a software only platform that runs on top of other hardware based platforms. The java platform has 3 elements:
a) Java programming language

b) Java virtual machine (JVM)  
c) Java applet programming interface (Java API)
